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Copy and complete the following table.

0 0° 30° 45° 60° 90° 180° 270° 360°
Radians | ) Y% V4 [T | "a T [3 | ar
Sin 6 0 /2 7 ¥3) [ 0 sl 0
Cos 6 | Gl | Ph Y2 D - 0 l
Tan 6 ) Vi3 I J3 und . 0 wnd - 0
Csc O | yngd. ?- Gup| Uk | pnd. | -| u,
Sec 0 | 2UYpzl JavE| 2 wd . =1 und. !
Cot6 |vnd GeYl L% W) und, 0 nd
2. Determine the quadrant in which x lies if
(a) sinx>0 and cot x <0
(b) cscx<Oandcotx<0 TL
(c) secx>0andsinx<0 T
(d) cotx<0andsecx<0 IT
(e) cotx>0andcscx>0 I
3. Express in degrees the angle whose radian measure is:
87 K1
a) — b) - c) —
(a) 3 (b) -7 (© :
4. Express in radian measure the angle whose degree measure is:
(a) 15° (b) -600° (c) 124°
5. In which quadrant does an angle of 3% lie? How about —377[ ?
6. Point P with coordinates (%,73) lies on the unit circle, find:
a. sin9
b. cos
c. tan®
7. Express each of the following as a function of a positive acute angle.

a. sin 140°
b. cos 250°
c. tan 300°
d. cos 135°
. Sm
e. sin—
6
f. tan7—7r
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D) U4 x=an 8
© H(xH)=Xx+3
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